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Bpl mpuctynaere K BbINOJHEHUIO 3amanuil Onumnuanbl mkojdbHUKOB PAHXul'C.
[Tpexne, ueM Bel HauHETE, OPrKOMUTET MMPOCHUT YUECTh HECKOJIBKO ITPABMUII, BBIMIOJHEHNE KOTOPBIX
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Bb1 MOkeTe BBITIOTHATH 33JJaHUS U 3arpyKaTh padOTy A0 OKOHYAHUS MpueMa padoT B
23:59 no mockoBckomy BpeMeHH 25 Hos6pst 2018 rona. MHoro Taiimepa HeT.
[TpocuM He 3a7epKUBaTh BBHINOJIHEHUE: IIPU OMO3JaHUM JaXe Ha 5 CEKyH] cucTeMa
3aKpoeT npueM padort, u Bama pabota He OyAeT NpuHATa K PACCMOTPEHHUIO.

Pa6ota Bemomnusiercs TOJIBKO camocrositensHo. KosiekTuBHOE BhITIOJIHEHHE PaboT
3alpelieHo: BCe OAMHAKOBBIE pabOThl OyAyT aHHYIMPOBAHbI.

Bce pemenust Heo6XoaMMO BrieyaTaTh B OJIaHK OTBETOB, @ HE TUCATh OT PYKH, 3aTEM
coxpansTh (paitn kak PDF u mocne atoro 3arpyxarts B JIuunblil kabuHeT.

[Mpumep mis MS WORD: ®aiin—Coxpanuts kak...—Tum ¢daitna PDF (*pdf).
[Tpuem paboThl yepes AEKTPOHHYIO MOYTY HEe Mpou3BoauTcs. Tonbko yepes JInuHbIit
KaOUHET.

3anpemieHo  «IepeKOHBEPTUPOBATh»  (paiiy, MPOCTO IEPEMMEHOBAB y HEro
pacmupenne Ha PDF: B Takom Buze OH He ynTaeTcs U He OyJeT MpOBEpeH. 3a Hero
Oynet BbicTaBjeHa olieHka () 0aymioB.

[Tocne 3arpy3ku pabotel Bam Oyner HanpasieHo nucbMo. Y Bac ects 24 vaca (wiu
MeHee, €ClIi JI0 KOHIa IpueMa pabdoT OCTalloCh MEHbBIIE BPEMEHH) Ha NPOBEPKY
3arpykeHHoro (aiina u ero 3ameny. I[Ipocum He npeneOperatb 3Toi BO3MOKHOCThIO
U IIPOBEPATH 3arpy’KEHHBIN (ailsl, B TOM 4YUClIe Ha OTCYTCTBHE TEXHUYECKHX COOEB
IpHU 3arpy3Ke, NpensTCTBYIOUINX OTKPBITHIO M YTEHUIO (aiina.

HeobOxonumo 3arpyxaTh paboTy TOJBKO B CIIEHUAIBHO OTBEIEHHOE IOJIE, HE ITyTast
npoduin.

3anperieHo Npou3BOIUTh 3aMMCTBOBAaHUS 0€3 YKa3aHUs CCbUIKM Ha MEPBOUCTOYHUK.
[TepBOMCTOUHUKOM SIBISIOTCS TPYAbl M3BECTHBIX YYEHBIX, (uinocodoB, HaydHbIE
paboThl, omyOyMKOBaHHbIE B peuneHzupyeMbix BAK Haydynblx wu3gaHusx am0o
uHIeKcupyembix B Scopus mwiu Web of Science, HopMaTHBHbIE TPABOBbIE aKTHI U JIp.
Ccpulku Ha cTaThu 0€3 yKa3aHMsI aBTOpa HE SIBJISIOTCS KOPPEKTHBIMHU. PaboThl
HEKOPPEKTHBIMH 3aMMCTBOBAHUSAMU OYIAYT aHHYJIUPOBAHBI.

3anperieHo NoAMUChIBaTh padOThI MJIM MHBIM CLIOCOOOM yKa3bIBaTh Ha aBTOpa. Pabora
C YKa3aHHBIMHU NIEPCOHANBHBIMU JTAHHBIMH YYaCTHUKA OyJIeT aHHYJIHPOBaHA.
HeobxoaumMo 4eTKO BBIMOIHATH TpeOOBaHUS K 00beMy paboThI, €CIM OH yKa3aH B
3a/laHuN.



PART | PRONUNCIATION AND INTONATION PECULIARITIES

Task 1. Listen to the recordings (1-15) and guess who is speaking: a Brit, an
American or an Australian. Put the number of the recording into the
appropriate column.

https://yadi.sk/d/8IhthORCZFRcGqg

Task 2. 2a. Put the « ' » sign before the words that should be stressed in the

following sentence:

Charley isn’t traveling to China in two weeks.

2b. Underline such a word which (if stressed) will convey the following ideas:

1. It’s not him who is traveling but someone else.

Charley isn’t traveling to China in two weeks.

2. It’s not true that he is flying.

Charley isn’t traveling to China in two weeks.

3. This is not what he’s going to do but maybe something else.
Charley isn’t traveling to China in two weeks.

4. This is not the direction he’s flying into.

Charley isn’t traveling to China in two weeks.

5. This is not the actual destination.

Charley isn’t traveling to China in two weeks.

6. It’s not going to happen at the stated time but another day.

Charley isn’t traveling to China in two weeks.


https://yadi.sk/d/8lhthORCZFRcGg

PART Il VOCABULARY PECULIARITIES

Task 3. Fill in the gaps so that it has a similar meaning, using the word given.
You can use from three up to six words.

Example:
She knew nothing about the party that they were planning.
DARK

She was (kept) in the dark about the party that they were planning.

1. Jane would only speak the managing director alone.
ON
Jane ................ to the managing director alone.

2. The number of our client positive feedback has decreased tremendously in the
past year.

MARKED
In the past year, ................. in the number of our client positive feedback.

3. Tash found it almost impossible to understand how to operate the machine
correctly.

HEAD

Tash couldn’t ................. how to operate the machine correctly.

4. Do you mind if we quote from your report in the staff newsletter?
OBJECTION

Would ................. quoting from your report in the staff newsletter?
5. John was about to leave when his university team scored a goal.
POINT

Johnwas ................. when his university team scored a goal.



6. Anna didn’t see it was snowing until she went outside.
ONLY
| outside that she saw it was snowing.

7. Giving up consuming salty foods is a really wise way to improve your overall
health condition.

WELL

To improve your overall health condition it’s ................. out salty foods from
your daily diet.

8. Because of her accent, it was rather complicated to understand her initially, but
the students soon got adjusted to the way she spoke.

HERSELF

Because of her accent, the teacher had some ................. initially, but the students
soon got adjusted to the way she spoke.

9. The siblings have a bewilderedly close relationship.

There ................. in the siblings’ relationship.
10. There is a good gossip that Josh is about to announce his decision to step down.
VERGE
Rumor hasit ................. his resignation.
PART 111 ENGLISH BOOKS

You will hear two extracts from one of the Harry Potter books: one is in British
English, the other is in American English. While listening to them do the following
tasks.

https://yadi.sk/d/4cw429FL9X7rlg

Task 4. Decide which type of the English language (BE or AE) is used in each
extract and find the American and British variants of the titles of this book. Put your
answers in the appropriate spaces in the Answer Form.


https://yadi.sk/d/4cw429FL9X7rIg

Task 5. Pick out 7 examples of BE and AE and give their equivalents for both
variants accordingly. Put your answers in the appropriate spaces in the table and in
the Answer Form.

See the example.

Type BE AE

vocabulary jumper sweater

Task 6. Answer the following questions in a form of a short text. Use 80-100 words.
Put your answers in the appropriate spaces in the Answer Form.

Why did Harry Potter receive the letter that invited him to Hogwarts?
What could have happened to Harry Potter if he had NOT received that letter?
Consider ONLY ONE of the following options: family / school / friends.

PART IV ENGLISH FILMS
You will watch 2 videos from a film/series about certain historic events. Do the tasks

that follow. Put your answers in the appropriate spaces in the Answer Form.
https://yadi.sk/d/S30sCqgfgy-lavw

Task 7. Write a short text (50-70 words) about each to give information on the
following areas:

- What historic event it is

- Who the participants of each event are (the names and positions of the people)
- Where the event takes place (the country / countries and / or the city)

- When the event happens (the accurate date(s))

Task 8. While watching the videos write the key words that reveal the message of
the event. Mind that they should be verbs, nouns and adjectives. Put your answers
in the appropriate spaces in the Answer Form.


https://yadi.sk/d/S3osCgfqy-Iavw

PART V ENGLISH IDIOMS

Look at the THREE pictures and do the tasks that follow.

Task 9. Decide what English idiom can be illustrated by each picture. Write the
idiom to each picture and give its Russian equivalent. Put your answers in the
appropriate spaces in the Answer Form.

Picture 1

Picture 2

Picture 3

Task 10. Write a short story — NOT more than 3-4 sentences - where ONE of these
idioms can be used to reveal its meaning.



